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For the discrete data system shown below find:
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Where G, (s) = S%l , G2 () =§ , Hi(s) = 4 (static gain) , Hy(s) =

1. The pulse transfer function TF. (10 marks)
2. Describe the system output C(z) when it is subjected to a unit step input.(10 marks)
3. Define the output sequence c(k) of C(z2) (10 marks)

4. Find the initial and final values[c(0) and c(«)]of the system. (10 marks)
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Table of Laplace and Z-transforms
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Kronecker delta &(k)
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The z transform is given as: X (z) = > x(kT)z
k=0

Initial value: x(0) = lim X(z)
Z—0

Final value theorem: x(00) = lirrll[(l -z HX(2)]
Z—>
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e=2.718 and e*=0.368
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